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PART A — (10X 1=10 marks)
Answer ALL questions.

Choose the correct answer,
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The number of degrees of freedom in a !
contingency table is
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Which of the following is 2 2 x 2 Latin square?

A A . A B
{a) §e))
R B -
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The Rechar:t is used o show of th
quality produced by tha given process

{8) variability (b) range

(¢) =sample range (d} standard deviation

Which of the Dllowing is net an advantages of

Greater efficiency

(¢ Easytoapply (@ Minimum waste
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PARTB —{(3x5=25 marks)
Answer ALL questions, choosing either (z) or (b).

(a) Describe the
numbers.

characteristes ol index

Or

(»  From the following data of wholesale price
construct index numbers for 1991 ang 1992
taking 1990 as base.

. | . . I |
" Commodity | Whole sales price in Rs. Per quinta] |
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1990 | 1991 1992
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3 825
375 600
325 310
280 265
330 335
350 | 360
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(@) Explain the types of hyporthesis.

Or

(b)  The means of two single large samples of

1000 and 2000 members are 67.5 and

68 resp. Can the samples be regarded as

drawn from the same population of standard
deviation 2.5? A

Pace 4 Code No.:10073 E

[P.T.0)



13.

14.

(a)

(b)

(a)

(b)

Write the procedure of t-test for a single
mean.

Or

For the following data, test whether this
difference is significance or not.

Sample Size X(x-X)
i 8 84.4
Gi) 10 102.6
5% of I' for (7, 9) degrees of freedom is 3.29.
The following table gives the results of
experiments of 3 varieties of crops 4 in block
of plots. Test the significance of difference

between the yields of the 3 varieties hy
preparing the table of analysis of variance.

Variety Plots
A 81467
B 7(5|5(3
C 215144
Or

Three varieties of cows are same age group
are treated with four different types of
fodders. The yields of milk in deciliters are
given below. Perform an ANOV and checlk
whether there is any significant difference
between the yields of different varieties of
cows due to different types of fodders.
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Varietics of Cows Fodders
fi | | f3 | fa
C 61|63]|66|68
Ce 62| 64|67 69
Cs 63|63 | 68|69

15. (a) Define P-chart and write its procedure.
Or
) Explain: @) LTPD (i) AOQ
PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Explain about Ideal Index Number.

Or

(b) TFor the following data calculate (i) Fishers
(i) Bowley's (ill) Marshall Edgeworth’s
index numbers.

16. (a)

Commodity 1990 1992
Price Quantity Price Quantity
A 2 10 3 12
B 5 16 6.5 11
® 3.5 18 4 16
D 7 21 9 25
E 3 11 3.5 20
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17. (@

(b)

(b)

Describe the procedure to test the equality of
population proportions.

Or
Two independent samples give the following
results : C
Size Mean Standard deviation
250 120 12
400 124 14

Test whether the difference between mean is
significance or not.

A survey of 800 families with four children
each revealed the following distribution.

. of boys': 0 1 2 3 4
. of girls : 4 3 2 1 O
. of families: 32 178 290 236 64

Is this result consistent with the hypothesis,
that male and female births are equally
probable?

Or

The following tables give the classification of
8000 graduates according to sex and
employed. Test whether the employment is
independent of the sex of the graduates.
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Employed Non Employed Total

.Male 1480 5720 7200
Female 120. 680 800 -
Total 1600 6400 8000

[Given 5% value of 7 (i.th 1df)= 3.841] '

19. (a) Describe ANOVA table for one way and two

way classification of data.
Or

(b) Perform ANOVA for the following Latin
square.
Al6 B10 C11 D9 " E9
Eio C9 Al4 Bl12 Di1
Bis5 D8 E8 C10 A18
D12 E6 BI13 Al3 Ci2
C13 All D10 E7 Bl4

20. (a) Describe double sampling plan and its

advantages.
Or
(b) Construct X chart for the following data :

Sample 1 2 3 4 5 6 7 8 9 10
No.

X 43 49 37 44 45 37 51 46 43 47
R 5 6 5 7 T 4 8 6 4 6
[Given A, =0.577]
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